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QUESTION 1

Refer to the exhibit. 

All ports are members of VLAN 10. Considering the default cost of upstream bridges to the root bridge is equal, which
option will be the new root port for VLAN 10? 

A. interface f0/13 

B. interface f0/14 

C. interface f0/15 

D. interface f0/21 

Correct Answer: D 

 

QUESTION 2

Which command globally enables AAA on a device? 

A. aaa new-model 

B. aaa authentication 

C. aaa authorization 

D. aaa accounting 

Correct Answer: A 
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QUESTION 3

When you design a switched network using VTPv2, how many VLANs can be used to carry user traffic? 

A. 1000 

B. 1001 

C. 1024 

D. 2048 

E. 4095 

F. 4096 

Correct Answer: B 

 

QUESTION 4

While troubleshooting a network outage, a network engineer discovered an unusually high level of broadcast traffic
coming from one of the switch interfaces. Which option decreases consumption of bandwidth used by broadcast traffic? 

A. storm control 

B. SDM routing 

C. Cisco IOS parser 

D. integrated routing and bridging 

E. Dynamic ARP Inspection 

Correct Answer: A 

 

 

QUESTION 5

Ferris Plastics, Inc. is a medium sized company, with an enterprise network (access, distribution and core switches) that
provides LAN connectivity from user PCs to corporate servers. The distribution switches are configured to use HSRP to 

provide a high availability solution. 

DSW1 -primary device for VLAN 101 VLAN 102 and VLAN 105 

DSW2 - primary device for VLAN 103 and VLAN 104 

A failure of GigabitEthemet1/0/1 on primary device should cause the primary device to release its status as the primary
device, unless GigabitEthernet1/0/1 on backup device has also failed. 

Troubleshooting has identified several issues. Currently all interfaces are up. Using the running configurations and show
commands, you have been asked to investigate and respond to the following question. 
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During routine maintenance, it became necessary to shut down the GigabitEthernet1/0/1 interface on DSW1. All other
interfaces were up. During this time, DSW1 remained the active device for the VLAN 102 HSRP group. You have
determined that there is an issue with the decrement value in the track command for the VLAN 102 HSRP group. What
needs to be done to make the group function properly? 

A. The decrement value on DSW1 should be greaterthan 5 and less than 15. 0 

B. The decrement value on DSW1 should be greaterthan 9 and less than 15. 

C. The decrement value on DSW1 should be greaterthan 11 and less than 19. 

D. The decrement value on DSWTs should be greaterthan 190 and less than 200. 

E. The decrement value on DSWTs should be greaterthan 195 and less than 205. 

Correct Answer: C 
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